1
Time: 10 Minutes Paper English 8 (T-1) Total Marks: 10

5th Month, 3rd Week, 1st Day

Syllabus: Unit # 10: Para: 2,3 Dialogue: between two friends talking about aj
recently held cricket match.

Q.No.1. Choose the correct option. A3)
1. The farmers are the of every society.

l(@)] backbone ()]  heart  [(¢)] bran @] body |
2. Ahmad's father is a/an:

| (a) | engineer |(b)| farmer | (c) | doctor |(d)| teacher |
3. Ahmad's father farms crops of:

|(a)| wheat |(b)| barley |(c)| rice |(d)| all of these |
4. Most of the time Ahmad's father has Crops every year:

| (a) | enough |(b)| less | (c) | bumper |(d)| more |
Read the given paragraph and answer the given questions.

Many people have migrated to urban areas because of the tough living style of
village life. Not only this, the main profession or occupation of village is also
thought to be low paid profession, therefore, the number of farmers is decreasing
day by day.

5. Many people have migrated to areas.

| (a) | rural |(b)| plain | (c) | desert |(d)| urban |
6. The number of farmers is:

|(a)| increasing |(b)| decreasing |(c)| remaining same |(d)| equal |
Q.No.2. Who works from morning till evening in the fields? 2)

Q.No.3. Write a dialogue between two friends talking about a recently held
cricket match. &)
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